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1) Ð1 and Ð2 are a pair of supplementary angles. What is the measure of Ð2 
if mÐ1 = 410?

2)

1390

320

Ð3 and Ð4 are a pair of supplementary angles. If mÐ3 = 1480, what is mÐ4?

C)

1)

3)

1110,  220

not supplementary

1040,  760

supplementary

2)

4)

1370,  430

supplementary

840,  680

not supplementary

A) State whether the given pairs of angles are supplementary or not.

B) Write the supplement of each angle.

1) 540

3) 620

The supplement of 540 is                    .

The supplement of 620 is                    .

1260

1180

2) 970

4) 1200

The supplement of 1200 is                    .

The supplement of 970 is                    .830

600


